

Townhouse in Xghajra



Xghajra, South



€960,000

Reference No: 240151078-164

 Total Rooms: 7

 Floor Area (m²) : 150

 Bathrooms: 2

 Bedrooms: 2

Townhouse - For Sale - Xghajra

XGHAJRA - Recently built and finished townhouse set up for rental purposes and split into separate units with a total of 7 bedrooms , 8 bathrooms and plenty of outdoor space. Property is still being finished, will be sold fully airconditioned and partly furnished. Freehold. Contact your agent for an immediate viewing.

Features

Rooms

- ✓ Kitchen : 4.7 x 2.58 m (12.13 m²)
- ✓ Living/Dining : 12.8 x 3.8 m (48.64 m²)
- ✓ Twin Bedroom : 3.4 x 7.5 m (25.5 m²)
- ✓ Twin Bedroom : 4 x 3.4 m (13.6 m²)
- ✓ Bathroom : 3.5 x 1.8 m (6.3 m²)
- ✓ Guest Toilet : 1.4 x 1.3 m (1.82 m²)
- ✓ Workshop : 5.5 x 3 m (16.5 m²)
- ✓ Open Space : 8 x 6 m (48 m²)

Gallery







Thomas Meachen
RE/MAX Edge - Attard

M: 99832214
E: thomas@remax.com.mt
T: 21480164

RE/MAX Edge - Attard
4Trik Antonio Schembri, Attard, Malta